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	2019/January Braindump2go 400-151 Exam Dumps with PDF and VCE New Updated Today! Following are some new
400-151 Real Exam Questions:]1.|2019 Latest 400-151 Exam Dumps (PDF & VCE) 722Q&As

Download:https://www.braindump2go.com/400-151.html2.|2019 Latest 400-151Exam Questions & Answers Download:
https://drive.google.com/drive/folders/0B75b5xYLjSSNOUtSMndmVjV3czA?usp=sharingQUESTION 181Which three statements

about the vTracker feature after it is enabled on the Cisco Nexus 1000v switch are true? (Choose three)A.The vTracker feature

provides information about the virtual machines that are managed by all Cisco Nexus Switches.B.The vTracker feature uses the Link

Layer Discovery Protocol.C.All vTracker views are valid for a given time only.D.The vTracker feature provides information about

the virtual network ebvironment.E.The VSM and vCenter must be on same subnet.F.The VSM must be connected with the vCenter

to collect information.Answer: CDFExplanation:

http://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus1000/sw/4_2_1_s_v_2_1_1/system_management/configuratio
n/guide/b_Cisco_Nexus_1000V_System_Management_Configuration_Guide_2_1_1/b_Cisco_Nexus_1000V_System_Manage
ment_Configuration_Guide_2_1_1_chapter_010000.html  QUESTION 182Refer to the exhibit. Based on this portion of an MDS

iSCSI configuration, which two statements are true? (Choose two)  A.The fc-lun 0x0000 mapping to iscsi-lun 0x0000 is not

permitted.B.The iSCSI initiator that connects to target name iqn.1987-02.com.cisco.t3 will see two LUNs numbered as 2 and 4.

C.The iSCSI initiator and the iSCSI target iqn.1987-02.com.cisco.t3 must be in the same zone before LUNs are available to the host.

D.The iSCSI initiator at name iqn.1987-02.com.cisco.t2 has access to only one LUN.E.The iSCSI initiator that connects to target

name iqn.1987-02.com.cisco.t3 will see two LUNs as numbers 0 and 1.Answer: CEExplanation:  QUESTION 183Refer to the

exhibit, which two statements about spanning tree are true? (Choose two)  A.BPDUs from a vPC are processed on this switch

B.BPDUs are processed and generated by both peer switches.C.This switch cannot generate BPDUs for a vPC.D.BPDUs are sent to

the peer switch for processing.E.BPDUs received on this switch are dropped because of Type 2 inconsistency issues.F.This switch

generates BPDUs for vPC.Answer: CDQUESTION 184In a high availability environment with two Fabric Interconnects, you can

run a separate of Cisco UCS manager on each Fabric Interconnect. The Cisco UCS Manager on the primary Fabric Interconnect acts

the primary management instance, and the Cisco UCS Manager on the other Fabric Interconnect is the subordinate management

instance. Which of the following statements is true in regards to Fabric Interconnect management instance?A.The two instances of

Cisco UCS Manager across a private network MGMT0 and MGMT1 Ethernet ports on the Fabric Interconnects.B.The two instances

of Cisco UCS Manager across a private network L1 and L2 Ethernet ports on the Fabric Interconnects.C.The two instances of Cisco

UCS Manager across a management network MGMT0 and MGMT1 Ethernet ports on the Fabric Interconnects.D.The two instances

of Cisco UCS Manager across a management network L1 and L2 Ethernet ports on the Fabric Interconnects.Answer: BQUESTION

185Refer to the exhibit. Which command would produce this output?  A.show stats probe typeB.show stats HTTPC.show stats load

balanceD.show parameter mapAnswer: CQUESTION 186Which command sends a test call Home Invertor message to start the

registration processA.test callhome inventoryB.callhome inventory testC.test inventory callhomeD.callhome test inventoryAnswer:
DQUESTION 187Drag and Drop QuestionDrag and drop sequence of the steps on left for ISSU software of dual supervisor

switches to achieve a non-disruptive upgrade on the right.  Answer:   QUESTION 188Which two statements about basic zoning are

true? (Choose two)A.If a zone is part of multiple zone setsyou create one instance of this zone for both zone sets.B.To retrieve the

results of the activation on a per switch basis. The managing switch provides a combined status about the activation and identifies

the failure switch.C.Administrators can make simultaneous configuration changes. Upon activation.one administrator can overwrite

another administrator's changes.D.The default zone policy is defined per switch. To ensure smooth fabric operation, all switches in

the fabric must have the same default zone settingE.To distribute the zoning database, you must reactivate the same zone set. The

reactivation may affect hardware changes for hard zoning only on the local switch, remote switch, remote switches are not affected.

Answer: CDQUESTION 189Which statement about soft pinning is incorrect?A.If no uplink Ethernet port channel is configured

with all VLANs on the vNIC. Cisco UCS Manager drops the traffic for all of the VLANs on the vNIC.B.When the VLAN validation

fails, a VLAN mismatch fault with a severity of warning appears.C.It is the default behavior Cisco UCS.D.Cisco UCS Manager pins

the vNIC to an uplink Ethernet port or port channel according to VLAN membership criteria.Answer: BExplanation:QUESTION

190Which two products provide the ability to create eight VDCs? (Choose two)A.Cisco Nexus 7000 Supervisor 2 ModuleB.Cisco

Nexus 7000 Supervisor 1 ModuleC.Cisco Nexus 7700 Supervisor 1 ModuleD.Cisco Nexus 7700 Supervisor 2E ModuleE.Cisco

Nexus 7000 Supervisor 2E ModuleAnswer: DEQUESTION 191Refer to the exhibit, which two statements about the HSRPV6

implementation for company ABC are true? (Choose two)  A.HSRP version #1 or #2 is supported.B.The UDP port is port 2029.
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C.The virtual MAC address range is 0005.73A0.0FFF.D.The hop limit is set to 127.E.The multicast link-local IP destination address

is FF08::66.Answer: !!!RECOMMEND!!!1.|2019 Latest 400-151 Exam Dumps (PDF & VCE) 722Q&As

Download:https://www.braindump2go.com/400-151.html2.|2019 Latest 400-151 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=YgYCknRZclo
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